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1. If net profits are ¥ 40,000 and non-cash
expenses are I 5,000, the funds from
operations will be :

(A) 40,000
(B) 35,000
(C) T45,000
(D) 50,000

2. Methods of valuation of goodwill is/are :
(A) Average profit method
(B) Super profit method
(C) Capitalisation method
(D) All of'the above

3. According to Walter, firm should pay 100%
dividend if :
(A) r>k
(B) r=k
(C) r<k
(D) None of the above

4. Meaning of net assets is :
(A) Total assets — Total liabilities
(B) Fixed assets + Current assets
(C) Total assets — Current liabilities
(D) Total assets — outside liabilities

5. Favourable balance of cash book means :
(A) Debit balance as per cash book
(B) Debit balance as per passbook
(C) Credit balance as per cash book
(D) None of the above

6. The cost of asset is T 60,000. The scrap value
will be 25% at the end of 10 years. If straight
line method of depreciation is followed, the
rate of depreciation is :

(A) 7.5%
(B) 9%

(€) 10%
(D) 15%

7. Dissolution expenses are recorded in
realisation account in the :
(A) Debit side
(B) Credit side
(C) Not recorded in realisation account
(D) None of the above

8. The intrinsic value of shares is determined :
(A) On the basis of net assets
(B) On the basis of profit
(C) On the basis of market value
® (D) On value decided by speculators
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e gg oM T 40,000 & T R T AF
35,0008 @ G § B9 B

(A) 40,000

(B) 35,000

(C) T 45,000

(D) 50,000

@ & eid o ot 8 /8

(A) 3 o fafer

(B) fy @ fafey

(C) Yuhrawor fafer

(D) ST w

dfcey @ AR, BH DI 100% T Al
91y Al

(A) r>k

(B) r=k

(C) r<k

(D) Sw & & 1 T

& FfT &1 9N §

(A) B FURATN — FA IRIE
(B) il wwuftrdt + 9re] FHf
(C) B wHRAl — =g afid
(D) Tl Gl — ared e

AES T8 B IER gad 99 o1 3 B
(A) IFE T8 F IER fe Iy

(B) UNgd & AR AT o9y

(C) Ve T8 $ IER Hise AY

(D) STIE H ¥ I3 T8

FHRT @ AT T 60,000 B 10 I8 & S
TR @1 SR qoT 25% 21 At Ee e
@1 UG | R O W@ 8 @ FN W e

(A) 7.5%

(B) 9%

(C) 10%

(D) 15%

T @ T B agel @ d forar o €

(A) fdT (M) v o

(B) ®fee (Gm) uer #

(C) el @ ¥ 78 foran o @
(D) ST & & P T

3e @7 SNAR® Hed T BT @
(A) IE FURA & IER W
(B) @M & IHR W

(C) T9R & & IFER T
(D) geial grr FeiRa g w
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9. When of the following transactions will 9. frafofad # & oM & oA Tle] AT #
change current ratio ? qRqas o Gddr & 7
(A) Purchase of goods for cash (A) T P THT e
(B) Payments to trade creditor s sy
(C) Accepting bill drawn by trade creditors (B) RE il g R Rt
(D) Dishonouring of bills receivable © : S &R 9
(D) = Uz &1 sFERT
10.  Which of the following is not a quick asset : 10. fy=ifeha § & PHA-W TR GRS 8l & 7
(A) Stock (A) wiH
(B) Sundry debtors (B) Ay R
(C) Bills receivables
(D) Cash in hand Eg)) QT"«’J? fa_;l B
11.  Debit note is prepared for which transaction ? 1. 9W-v3 &9 oF-e9 @ foiy dOR fdar <
(A) For purchase of goods 2
(B) For cash sales of goods (A) A @ H9 FE D o1
(C) For purchase return (B) el P Toe RPT o B R
(D) For sales return ©) T Y B B R
(D) fasma ao=ht & @ forw
12.  Under cost control accounting, normal 12. o fFEaw o@fafd & a9 @ 9@ afy
wastage of material is debited to : ®l efde forar war 2
(A) Costing profit & loss account (A) ST M-I @
(B) Stores ledger control account Sy
(C) Financial goods ledger control account tg; %ﬂ% & ﬁm —
D) Factory overhead control account .
©) i (D) SREFT IURY g0 @rar
13.  Under which Act, audit is compulsory ? 13.  ®F-3 affrm o sifa sidew afad 2
(A) Partnership Act, 1932 (A) VRN R, 1932
(B) Indian Companies Act, 2013 (B) ';:I']—\r(ﬁ-q a;pq:%m Sjl'm'ﬁ-q-q 2013
(C) Both (A) and (B) : : '
(D) None of the above 23 ?ﬁ:ﬁi (A;%ﬂé%) Gl
14.  The two basic measures of liquidity are : 14. TR P A9 B QY = 919 g:
(A) Stock and debtors turnover ratio (A) THH TAT TGN ATd 3T
(B) Current ratio and operating ratio (B) Tl U ol TR 3T
(C) Current ratio and liquid ratio ©) o e
(D) Gross profit and net profit ratio R d
(D) Fdd aM T Y& AN U
15.  Which of the following is an application of 15.  ffaiad § & SF—1 BN ST WA 8 7
funds ? (A) T &I FAH
(A) Payment of salaries (B) B T 3UoRaT
(B) Writing of depreciation e wErf @ S
(C) Sale of fixed assets (<) : ol
(D) Payment of dividend (D) MRT T e
16.  Operating ratio is : 16.  FATe U @ :
(A) Profitability ratio (A) RIS U
(B) Activity ratio (B) farameierar I
(C) Solvancy ratio ©) S T T
(D) None of the above D) i * @ EETQF i
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18.

19.

20.

21,

22,

58

24.

sales are < 3,00,000, gross profit is 1/3 on
cost, purchases are ¥ 2,50,000 and the closing
stock is ¥ 50,000, the opening stock will be :
(A) 25,000
(B) T 75,000
(C) %50,000
(D) NIL

Audit of partnership firm is :
(A) Compulsory

(B) Voluntary

(C) Optional

(D) Periodical

Which one explain
amalgamation ?

(A) Accounting Standard — 6

(B) Accounting Standard — 8

(C) Accounting Standard — 10

(D) Accounting Standard — 14

According to Companies (Share Capital and
Debentures) Rules, 2014 by which percent
of a company will have to create debenture
redemption reserve of the amount of the
debentures to be redeemed ?

(A) 50%

(B) 25%

(C) 70%

(D) 100%

Valuation of shares is necessary :

(A) On reconstruction of company

(B) On amalgamation

(C) On absorption

(D) None of the above

the accounting of

If current ratio is 2.5 and working capital is
T 60,000. Then amount of current assets will
be :

(A) %3,00,000

(B) ¥5.00,000

(C) 4,00,000

(D) %1,00,000

Super profit means :

(A) Total profit / Number of years

(B) Average profit — Normal profit

(C) Weighted profit / Number of weights
(D) None of the above

A and B are partners sharing profit and losses
in the ratio of 3 : 2. They admit C for 1/4"
share. The new profit sharing ratio will be :
(A) 3:2;

i7.

18.

20.

21.

22

23,

24,
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afe fam % 3,00,000 T W Gobel @™ 1/3,
%7 T 2,50,000 7 3w Rewr T 50,000 & ar
TRMG fedar 2

(A) %25,000

(B) % 75,000

(C) 50,000

(D) 9

TRIETN! B BT FHE BT &

(A) fard

(B) Ufwd

(C) dIofeud

(D) 9%

T DGO oI B AR Il & 7
(A) oEHT q9 S — 6

(B) oW@IHT A& — 8

(C) oiRE®T 7Fd — 10

(D) oE® AFS — 14

B (3 GOl R wor um) e, 2014 @
AR WRF P qd FO A B IR BT e
yfoRrd | FU-UF TRE PG G AT Fe
g

(A) 50%

(B) 25%

(C) 70%

(D) 100%

e B AT HIAD B

(A) BN F GACHOT W)

(B) UBIHI R

(C) dfdem w®

(D) SWYH & & B TE

I A U 25 ¥ e eeEdid R
360,000 8 | a1 F1e] FRfy B8Rl

(A) % 3,00,000

(B) 5,00,000

(C) %4,00,000

(D) %1,00,000

e o1 a1t @

(A) @ oW / I DI HeE

(B) 39T o — WHIRI @

(C) wIRT @™ / 9RT & G&

(D) Sudo 4 ¥ FIE TE

AR B 3:2 % g § am-ai i
T EI T 1/4 9T B oI C & Wy 3 F |
AT ™ IS SFuT 8

(A) 3:2:1

(B) 6:4:3

(C) 9:5:6

(D) 9:6:5
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25.  Garner versus Murray case was held in : 25. TR 99M W @ fd6R AT 4T -
(A) Indi}a | (A) ¥Rd 4
(B) Englan B 31—(3]-03 H
(C) Nepal EC; Juret &

(D) China :
(D) =4 4

26. Premium on redemption of debentures is : 26.  FU-UA @ WA R A I aren difem @
(A) Personal Account (A) feerTa @l
(B) Real Account (B) qrafa® @rar
(C) Nominal Account A
(D) None of the above Eg)) j ;mgT E}ﬂs‘ -

27.  On the insolvency of a partner, the deficiency ~ 27. Ud WREIGR & fedierar 89 TR SHa@! q\iﬁ el
of his capital account is borne by the solvent PPN P TR ETEH NP MG B AR
partners according to the decision of Garner TR WEER 989 Y &
versus Murray :

(A) Inequal ratio i o ;{

(B) In profit sharing ratio (B): =T Sl

(C) In capital ratio (©) T’ﬁ SRl j

(D) None of the above (D) G‘E@ﬁ q9 ?-Fﬂ's;‘ e

28.  Capital expenditure provides : 28. @?ﬁm T | Y BT
(A) Short term benefit (A) NPT A
(B) Long term benefit (B) SNE@RIA o™
(C) Very short term benefit (C) AR Freuprei o
(D) None of the above ; :

(D) SUGH A | B TEI

29. A company issued 10000 shares out of 14000 29. U® &HFT gRT RIHT 10000 3@ =G 14000
applied. Mr. X" got 300 shares on pro-ratio e U | flo ‘x° @&t g,n-jq-rf%,zﬁ IR W
ba51§. How many share he would have 300 7 WG EY | I fbe s gg e
applied ? Ry BT 2
(A) 302 shares :

(B) 213 shares (A) 302 STQT
(C) 300 shares (B) 213 &
(D) 420 shares (C) 300 =1

(D) 420 &9

30. Investigation begins when : 30.  SORERIYM YRS BT 8, O
(A) Book-keeping ends (A) TEIUTEH T g 2
(B) Ac::jountanc()iz ends (B) G T BT &

(C) Auditing ends .
(D) None of the above Eg; W&TUTI ;TT’}{‘H a%ﬁm g

31.  Balance of shares forfeiture account after re-  31. & {54 T 3% & 7 A & TwEm 3
issue of forfeited shares is transferred to : T G B Y B SR (a1 I g
(A) Profit almd Loss Account (A) a1y @y o
(B) Capital Reserve Account ) . .

(C) General Reserve Account gg; T\;ﬁ Tﬂfﬁﬁg %
D) None of the above
& (D) T A ¥ 7

32.  Which method of cost accounting is used in 32. @Al H ARG od@ied @ de-d Ay
hospitals ? PR BT ?
(A) Operating costing (A) URETH oREE
(B) Unit costing e
(C) Job costing (E) ik § i

/. (D) Batch costing E([:); s §
v e
@ !N "D'I“Fj =g=$"!!-:l:g indiresult.in whatsapp - 9352018749
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33;

34.

35.

36.

37.

38.

39.

Cash flow statement is based upon :
(A) Accrual basis of accounting
(B) Cash basis of accounting

(C) Both (A) and (B)

(D) None of the above

Minimum wage is guaranteed in :

(A) Rowan Premium Scheme

(B) Emerson Efficiency Premium Scheme
(C) Gantt Task Premium Scheme

(D) Halsey Premium Scheme

If the opening capital is ¥ 60000, drawings
¥ 5000, additional capital introduced during
the year ¥ 10000, closing capital ¥ 90000.
The value of profit earned during the period
will be :

(A) 40,000

(B) %50,000

(C) 25,000

(D) 35,000

Which of the following would result from a
decrease in the provision for bad and
doubtful debts ?

(A) An increase in net profit

(B) A reduction in net profit

(C) An increase in gross profit

(D) A reduction in gross profit

Where demand forecasting is difficult, then
budget is prepared :

(A) Production

(B) Sales

(C) Financial

(D) Flexible

The Head Office of ‘The Institute of Cost and
Works Accountants of India’ is situated in :
(A) Kolkata

(B) Mumbai

(C) Delhi

(D) None of the above

The success of perpetual inventory system
depends upon :
(A) Placing order for material at regular

intervals

(B) Exercising control over the issue of
material

(C) Records the receipts and issue of
materials immediately after each
transaction

(D) Recording the receipt of materials by

store-keeper in the ‘Bin Cards’

33

34.

35.

36.

37.

38.

39.

A

(@ NDiRESULTE

Ude yare v smnfa g 2
(A) TEHT B IUGH B IWR T
(B) oEi®HA & Ihe $ IMR W
(C) EHi (A) W@ (B)

(D) SUIH # ¥ FIE T

AT FAGY GT ARG V& @
(A) T J=f e

(B) THYH HRIGHA Fel I |
(C) ive o yenfy aromT

(D) &ed Weurfor Arerr §

afe aRf® ol ¥ 60000, JTERTT T 5000, T
@1 FfaRa el 2 10000, A TSl 2900002,
98 & SRM il e ERT

(A) % 40,000

(B) 50,000

(C) 25,000

(D) % 35,000

K\

Ife e g |fewr woi @ forg wawE § &4
HX & WY, dr = aRRem g8nm

(A) Y& a™ ¥ gig

(B) & @™ § FHI

(C) ¥&d aM 4 gf&

(D) WHa o § T

W4 AT F @HAE S qRed S € e
39 qoic BT HE I §

(A) I

(B) famy

(C) facia

(D) @rEER

q RS A% PR TS TN TEHRICTTH
316 s &1 W s Red 8 ?

(A) @ 4

(B) g #

(C) feweh #

(D) SWfw ¥ ¥ 3 T

R W gl @) Wwaran frefaed § @

g W iR ol & ?

(A) TmiEl & for fFafia siaval W TR
AT

(B) wmil & e w = @

(C) AT oF-od @ U¥a Al @ it
e frime & Rere @

(D) ¥R gRT wWERR @ wia @ fam

Frel R ReTS @
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40. Agriculture income is exempted from income; 40. IR AT 1961 @ fAE URT @ Fard
tax under which of the following Section o AT
Income Tax Act, 1961 : ¢ q;ﬁmﬁ ﬁq‘amg?
(A) 2(1A) (A) 2(1A)
(B) 10(1) (B) 10(1)
(C) 10(2) (C) 10(2)
(D) 10(4) (D) 10(4)
41.  Valuation of closing stock is to be made : 41. fwm i & qmm ferar S =fev
(gg 8ﬂ COStkpl‘ice‘ (A) oG I W
n market price
§C) Cost price gr market price, whichever is (B) SR %l 9 _—
less (C) T ¥4 I IR G I A 9§ W B4 &
(D) None of the above (D) E"'@fﬁ 9 Hﬁﬁ T2
42.  Cost of abnormal idle time is transferred to : 42, MR BEEH GHY B AN SRIaRd B T
(A) Costing Profit and Loss Account 2
(B) General Profit and Loss Account (A) @G AH-2I @ B
(C) Profit and Loss Appropriation Account (B) WM aM—a1f @I @
(D) None of the above (C) wm—zf frde am @
(D) STw # F B T
43.  Warehousing cost is a part of : 43.  HSRY A I 8
(A) Production overheads (A) SR IURAY I
(B) Administration overheads (B) I SURS™ @
(C) Selling overheads (C) fwa suRem &
(D) Distribution overheads (D) feRor SaRag @
44. Indian Contract Act was applied on : 44,  IRAR 3FEY SARTRE @ far T
(A) 1 September, 1860 A.D. (A) 1 Ry 1860 30 @
(B) 1 September, 1872 A.D. (B) 1 Ryaqwaw 1872 '5‘0 Gl
(C) 2 October, 1947 A.D. (C) 2 R 1947 %0 B
(D) 15 August, 1947 A.D. (D) 15 3FTRd 1947 30 I
45.  Annual value is determined under which  45. qIff% 7@ &1 fFuRy &9 orT & = foar
section of Income Tax Act ? ST e ?
(A) Section 21 (A) SINT 21
(B) Section 27
(C) Section 25 (g) ﬁ 27
(D) Section 23 3 34 &
(D) ©RT 23
46. Balance sheet discloses : 46. doi Wie Fa Bl € ¢
(A) Cash position of the business (A) TIEH @ AHe B Rfd
(B) Financial position of the business (B) =aar @ fodia Refy
(C) Income position of the business (C) =Tl % oy 3 Refy
(D) None of the above (D) E'Cl?i?ﬁ ¥ 9 o8 a8
47. Which of the following changes will 47. fy=faReg gRadqr & S FaeH Ads o FH
decrease the cash from operations ? T ?
(A) Increase in the value of stock > :
; (A) Ve $ e J gig
(B) gzcérset:;s:n tl;\ the amount of temporary B) v ket 2 T St
(C) Increase in the amount of creditors (C) oeRT @t JIfdr § qﬁé’
(D) None of the above (D) G‘q‘é?ﬁ ¥ ¥ P58
48. Responsibility accounting is part of : 48. TReIE @ieT R §
(g) Einatncial aco.;:punting (A) fir e @
ost accountin ,
. EC% Management afcounting (B) erra é@lﬂﬂ il
5 (D) None of the above (C) W o B
(%) INDIRESULTE (0) w7 4 3 ¢ 7
v, i SRR ] v

indiresult.in whatsapp - 9352018749




indiresult.in whatsapp - 9352018749
49,

50.

51.

2.

53,

54.

55.

56.

%,

Input in a process is 2,000 units and normal
loss is 10%. If finished output in process is
1,900 units, there is a/an :

(A) Abnormal loss of 100 units

(B) Normal gain of 100 units

(C) Normal loss of 100 units

(D) Abnormal gain of 100 units

Which of the following is not an accounting
concept ?

(A) Matching concept

(B)  Dual aspect concept

(C) True and fair concept

(D) Going concern concept

Which of the following is not included in
owned funds ?

(A) Equity shares

(B) Preference shares

(C) Ploughing back of profits

(D) Financing through public deposits

Which of the following centres does not exist
in responsibility accounting ?

(A) Investment centre

(B) Profit centre

(C) Expenditure centre

(D) Sales centre

When was Banking Companies Regulation
Act implemented in India ?

(A) In 1947 A.D.

(B) In 1949 A.D.

(C) In 1950 A.D.

(D) In 1956 A.D.

If the inventory turnover is divided by 365, it
becomes a measure of :

(A) Average collection period

(B) Average stock

(C) The average age of inventory

(D) Sales efficiency

Which of the following is not the benefit of
budgetary control ?

(A) Aid in co-ordination

(B) Aid in market segmentation

(C) Improvement in planning

(D) None of the above

Equity shareholders are :

(A) Customers of the company
(B) Owners

(C) Creditors

(D) None of the above
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49.

50.

51

52.

33.

54.

55.

56.

#)moiresuLT

et wfhar # 2000 gEEA @TE T @
TR B 10% 81 afe ik # fifia samew
1,900 SHTZAT & a1 BN :

(A) 100 SHSTT B! FTHNI B

(B) 100 SHIZAT P! WM g

(C) 100 SHISAT &I THR &I

(D) 100 SHSAT DI FTE Fod

foriferRad & & D O RGBT AGURT TEI &7
(A) FTEIAT TR

(B) fg—uwefra araermom

(C) ¥ U9 Ifed Srauron

(D) Te] AGHR B JIYROT

7 § 9 o1 wWifia By & a8l
3T ¢

(A) FHT 39

(B) YaiftrdR 3

(C) @I P gATGaH

(D) v e grT fafcrm

IR oEed § e § 9 e o
wrfied 2 & ?

(A) fafam o

(B) @™ B

(C) & b=

(D) fam @

e vt St W § @ fomar T ?
(A) 91947 20

(B) ¥ 1949 30 #

(C) ¥11950 30 #

(D) ¥11956 30

gfe whee Sga U PI 365 | W IR < a
TE A B

(A) 3T TR afy

(B) 3 BT

(C) T o 3 g

(D) fam g

ffoRed § & dF—w goiex) g3 & am
TE?

(A) T ¥ RS

(B) IR fowadia=or 4 Were

(C) FrvH 4 gur

(D) Iwfh # | BIg Tl

AT ST BN &

(A) B B TRD

(B) <@

(C) o¥ER

(D) ST # 7 3 T

indiresult.in whatsapp - 9352018749
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57.
58.
a9.

60.

61.

62.

63.

F’EQSLNDIRESULTE

The settlement cycle in National Stock
Exchange (NSE) is :

(A) T+5

(B) T+3

) T2

(D) T+l

A purchase of office equipment as credit
requires a credit to :

(A) Accounts payable

(B) Cash

(C) Office expenses

(D) Equipment expenses

For calculating the value of an equity share
by dividend method, it is necessary to know :
(A) Net assets

(B) Face value of shares

(C) Total capital of the company

(D) Normal rate of dividend

A and B are partners sharing profits in the
ratio of 2:1, C is admitted as a new partner
for Y4 share in profits. What is the sacrificing
ratio ?

(A) 1:1

B) 1:2

(©) 2:1

(D) 3:2

A transaction recorded in the credit side of
cash book is transferred to the ledger :

(A) On debit side of the account

(B) On credit side of the account

(C) Is not posted anywhere

(D) None of the above

Credit balance of nominal accounts indicate :
(A) Trade expenses

(B) Losses of trade

(C) Income and receipts of trade

(D) Assets of trade

Cash sales of T 3000 was posted as T 2000.

The rectifying entry will be :

(A) Cash A/c Dr. T 1000 to Sales Alc
T 1000

(B) Suspense A/c Dr. ¥ 1000 to Sales A/c
% 1000

(C) Cash A/c Dr. ¥ 1000 to Suspense Alc
T 1000
None of the above

8

58.

39.

60.

61.

62.

63.

TP B
(A) 5
(B) T3
(C) M2
(D) 1
) fmar

BT SIRGY F SR H dfec (A
i

(A) <U @@l |

(B) V@3

(C) @ieg g ¥

(D) SYFRV I H

e Y & gRT |war W @ A IR D

A 3R B WRERR & W @ni &1 e 21
A EICH AW % R & fog & W
ARGR & WY H G A S 8 | @ S
a8 ?
(A) 1:1
(B) 1:2
(©) 2:1
(D) 32

Jde 98 B piee (o) v § Rars fa m
-3 EreT 981 § IR far S g
(A) @ & sfde (W) var A
(B) @K & wfee (o) uer #
(C) ®e T8 forar omam &

(D) SugH 4 ¥ FIE TR

THAE GTd B S 39 37T B §

(A) @R & g

(B) @NR &I B4l

(C) @UR # Iy 3R wfteat

(D) TR &I FHRwEl

3 3000 ¥ A 9T BT WA T 2000 W TR A

Tﬁ,ﬂﬂﬂﬁ%m@‘ﬁ

(A) JFs @@ Dr. ¥ 1000 fama @@ &
31000

(B) 9= @il Dr. ¥ 1000 fawa @@ @
% 1000

(C) V®s W Dr. T 1000 ST @K &
% 1000

(D) ST ¥ § #g T

81.1
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64. Profit of last three years were ¥ 6000, 64. fiwel dF a9 & & T 6000, T 13000 T
¥ 13000 and ¥ 8000. The value of goodwill at Z 8000 ¥| @& @1 L AT o™ F 2 Tl
2 years purchased of average profit will be : P HT W BN ;
(A) T 27000 (A) % 27000
(C) T 18000 (C) % 18000
(D) T 81000 (D) % 81000
65. Company’s dividend policy is irrelevant and ~ 65. & @ @Y A WRA® § R T8
it does not effect the shareholder’s wealth. SYEnRal B FHEr B yWIfdd T8 Beel 81 59
Whose theory is based on this assumption ? I R frvaT Rigra s & ?
(A) Walter (A) TR
(B) Modigliani and Miller NN
(C) Soloman lzra (B) AR e
(D) None of the above (C) el FURT .
(D) ST # ¥ P Tel
66. A list of assets, liabilities and owner’s equity 66. tHp fiffre oy @ v @uRe wwer @
of a business enterprise as on a specific date gt il v W @ e @ GGl Gord|
is called : a2
(A) Balance sheet (A) Yoy e
(B) Income statement B A
(C) Cash flow statement (B)
(D) None of the above (€) TFs KRS ]
(D) SYH A & DI T2l
67. Woking capital is : 67. TS ol ©
(A) Proprietor’s own capital (A) W@ BT 3Tl tlr,ﬁ
(B) Borrower capital B) SUR ol &
(C) Amount of sale EC; e zr?r‘g‘qﬁ
(D) Current assets — current liabilities (D) = Rt — ] 5
68. According to straight line method, 68. WG Y@l YNCll & IWR EW B TAT DI
depreciation is calculated on : ot ®
(A) Opening balance (A) IRRE I
(B) Closing balance (B) aiftm 9y
(C) Original Cost AR
(D) Market value ©) elrie
(D) 919X eI
69. For claiming exemption U/S-54 of Income  69. 3TUR YR-54 & qd B Be U I B
Tax, the assessee should purchase residential fore Feemar o Fari wfRy BT o T
TAY 2 yearw il o dis oftranss i S T
years after the date of transfer
(B) 3 years after the date of transfer (2) R gg g‘: a;;(ig o ok
(C) 1 year before or 2 years after the date of © s SRl
transfer
(D) 1 year before or 3 years after the date of (D) TRy g fafr & 1 ¥ ‘1‘4‘ qr 3 Iy
transfer CIC
70.  Horizontal analysis is known as : 70.  &fyS faveryor 9T SN R
(A) Dynamic analysis (A) Tfoefer faeemor
(B) Structural analysis (B) EREHD GERLL
(C) Static analysis e fva
/', (D) None of the above E([:); ¥ ¥ P T8
C;/,Z INDIRESULTE indiresult.in whatsapp - 9352018749
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74.

75.

76.

77.

4
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71.

Depreciation is charged on :
(A) Current assets

(B) Wasting assets

(C) Working assets

(D) Fixed assets

The term ‘capital structure’ implies :

(A) Share capital + Reserves + Long-term
Debits

(B) Share capital + Long and Short term
Debits

(C) Share capital + Long-term Debits

(D) Equity and preference share capital

A.D.R. are issued in :
(A) China

(B) Canada

(C) India

(D) USA

Who invented the double entry system of
Book-Keeping ?

(A) Pickles

(B) Lucas Pacioli

(C) Batliboi

(D) None of the above

Balance of forfeited shares account after re-
issue of forfeited shares is transferred to :

(A) Profit & Loss Account

(B) Capital Reserve Account

(C) General Reserve Account

(D) None of the above

The highest level need in the need hierarchy
of Abraham Maslow is :

(A) Safety need

(B) Belongingness need

(C) Self-actualisation need

(D) Prestige need

The discount account in triple column cash
book records :

(A) Trade discount

(B) Cash discount

(C) Seasonal discount

(D) None of the above

Hire Purchase Act is :
(A) 1932
(B) 1956
(C) 1972

« (D) 1872
NDIRESULTE

UR SUCCESS PARTNER

1.

72.

FEN

74.

75.

76.

71.

78.

(#)WoiResuLTs

B ST T B

(A) Ta O ®

(B) FHIEN R W

(C) Frda w Ry 1

(D) ®mf ¥9fy W)

(A) 39 TS + F9T + QAUPIAA F

(B) 3% ol + SrHdreil U4 Heudleid vl
(C) &% oit + Sedrei Fo

(D) T TR SR 3 o

ToLI03R0 i fad o &

(A) o9 H

(B) ST H

(C) W

(D) JoTHOO H

JRUE Bl ol WOell B AR
fore fomar ?

(A) ffeea

(B) @M uRmel

(C) dredie

(D) SHH 7 ¥ IS T8I

ol 53 T 3 & g b @ o o
W G B I B ARG DY fadl e
g

(A) M-I @ §

(B) Ut W & |

(C) I F9Y @M H

(D) I ¥ & B T

IFET ARG B AEEEA el § 9EN I
HATTHI TN B

(A) R AL

(B) 3 B! ARG

(C) TN P JaTIDBA

(D) wfteT Jmavadmar

T @M el AFe TE A BT B ol
g

(C) A BE

(D) ST # ¥ B TE
foerar ma afofoam ©
(A) 1932

(B) 1956

(C) 1972

SD) 1872
indiresult.in whatsapp - 9352018749
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79.  Average profit of ¥ 20,000, normal profit 79. 3T @™ T 20,000, FERI M T 5,000, @nfa

 5,000. The value of goodwill on the basis P YIH AN B 3 TP PHY D IER W
of 3 years’ purchase of super profit will be : 2T ;

(A) 45,000

(A) 45,000
(B) T 40,000 (B) T 40,000
(C) ¥60,000 (C) T 60,000
(D) None of the above (D) Sww & § @ T
80. The maturity period of a commercial paper 80. RIS wual ot YT Jafyy RO &R
usually ranges : g
(A) 20 to 40 days (A) 20 ¥ 40 f&A
(B) 60 to 90 days (B) 60 ¥ 90 fad

(C) 120to 365 days

(D) 90 to 364 days (C) 120 ¥ 365 faA

(D) 90 ¥ 364 f&=1
81. On the basis of residence, the assesses are  81. G WM & JMR W BRGARI B bt

divided into how many categories ? A H dfer T e ?
(B) Three B
(C) Four ( C) j;
(D) Five (€)=
(D) U=
82. Divident per share is ¥ 15, earning per share ~ 82.  Wfey afg aMi¥r T 15, WA 3 30 ¥ 50 B, 37
is T 50, hence dividend pay out ratio is : FATHIY TN ST B
(A) 750% (A) 750%
(B) 333% (B) 333%
(€) 30% (C) 30%
(D) 65% (D) 65%
83.  Treasury bills are basically : 83. N fad eI RS
(A) An instrument to borrow short term funds (A) IFEFIfeId BUE JUR & YU
(B) An instrument to borrow long term funds (B) BN BUE IUR @ U3

(C) An instrument of capital market

(D) None of the above © t{‘_’ﬁ qIoiR T U Jud

(D) SUYH A ¥ DS e

84. Bank reconciliation statement is prepared by : 84. % wAMM faaRor qe RN 9T 8
(A) Customer of the bank (A) & & RS gRT
(C) Tax authorities R
(D) Auditor © = &Nt

(D) JdeF R

85.  Excess working capital is evidence of : 85. e wrd ‘iiﬁ I B
(A) Advanced credit (A) S~Id 9rg &1
(B) Demand of the product (B) e @ AT @1
(C) Idle funds g :
(D) None of the above Eg)) i ?_?;% &

86.  Variable cost per unit : ¥ 15, fixed expenses : 86. uft g@rg uRadweiie arra : 3 15, el @7
T 1,08,000 selling price at a breakeven point 7 1,08.000, 3T T 12,000 THLAT & FHAWT
of ¥ 12,000 units would be : ﬁi R i T 21
(A) ¥20 (A) 220
(B) 22 (B) 322
(€) %26 (C) %26
@) T4 (D) 24

F{” !N .D.Iquch - HR -1 & indiresult.in whatsapp - 9352018749
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87.

88.

89.

90.

91.

92.

50

£

%) INDIRESULTE

ﬁ

<

Margin of safety is the difference between :
(A) Planned sales and planned profit

(B) Planned sales and actual sales

(C) Actual sales and break even sales

(D) None of the above

Fixed assets purchased on credit are shown
in:

(A) Purchase book

(B) Cash book

(C) Journal proper

(D) None of the above

Which leverage explains the relationship
between contribution and earning before
interest and tax :

(A) Financial leverage

(B) Operating Leverage

(C) Composite leverage

(D) None of the above

If profit is 25% on cost, then profit on sales
will be :
(A) 20%

(B) 30%
(©) 33§%
(D) 40%

To which account would be credited goods
given in charity ?

(A) Sales Account

(B) No Account

(C) Cash Account

(D) Purchases Account

Debentures of T 7,50,000 are issued against
the purchase of assets of ¥ 7,00,000. In this
case ¥ 50,000 will supposed to be :

(A) Goodwill

(B) Capital reserve

(C) Profit

(D) Loss

Double-column cash book records :
(A) All transactions

(B) Cash and bank transactions
(C) Only cash transactions

(D) Only credit transactions

YOUR SUCCESS PARTHNER

87.

88.

89.

90.

91.

92.

93.

RET T 3R
(A) Frafsa fawa 7 Fafa o™ @ =
(B) fafora fawa 7 arafds o™ @ 7
(C) Trxifa® Ay 7 9W fawos f[Awy & 7

(D) SUdS & § P TE

YR Y @) T el gy @ forar o 2
(A) %9 92

(B) ds T@ 4

(€) 7= i #

(D) SUGH H | Blg Aol

3UCH T A AR W W qd Il 3w
e fope Siler W I BT & 7

A) i sdem

(B) uREreH Jdied

(C) fafa sdem

(D) SUYH A | B T

IR AT W aH 25% &, d [Ohd 9o W a™
HUILE

(A) 20%

(B) 30%

(©) 33%%

(D) 40%

TF & ford g mr 9 fw @ @ afla
3 ?

(A) fama @

(B) ®IZ @Il A&l

(€) Tbs TR

(D) H G

T 7,00,000 B TERT BT B
¥ 7,50,000 @ Fuua faifad &
Rerfar # 3 50,000 @1 FFT WR
(A) @

(B) o o

(C) o™

(D) &M

fe—wmig IFe TWF A Jfeiad el @ -
(A) W oH-cH

(B) 7&e T §& Tl oo

(C) HId PG o—ad

(D) $Tc1 SR dF-A

@ d5d
T, 79
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94. If financial leverage is 2.14, by what 94. e faxfrg e 214 % EBIT ¥ 6 qﬁé’
percentage will taxable income increase if BN W & I I § fhae gfea IfE Y
EBIT increases by 6% : (A) 0.36%
(4) 0.36% (B) 12.84%
(B) 12.84% (©) 21.4%
(C) 21.4% D G‘ﬂj?ﬁ ¥ A T8
(D) None of the above (D) Elﬁ's;‘
95.  cost of goods sold is ¥ 1,20,000 and gross  95. fama f&y T AT T AW T 1,20.000 & TFAT
loss is 1/4 of sales, amount of sales is : Hohd B fdha o1 1/4 2 fapg & afr 2
(A) T90,000 (A) 90,000
(B) X1,44,000 (B) T 1,44,000
(C) %1,50,000 (C) 1,50,000
(D) %96.000 (D) 296,000
96.  Which is not included in quick assets : 96. T W ¥ B M T8 8
(A) Stock (A) <R
(B) Debtors (B) TR
(C) Cash at bank =
(D) Cash in hand zg)) z':;:; ? 4
97.  Fixed cost per unit increases when : 97. I oId ufa 3‘(’5@ | qﬁ{;’ B &, O ¢
(A) Variable cost per unit increases (A) ¥ 3o uRad=eiiad amra § zl—ﬁg A
(B) Variable cost per unit decreases (B) W TS URaIE orTT & AT &
(C) Production volume increases ST :
(D) Production volume decreases ©) @1 T A qﬁ&r @
(D) SEA I AET ed W)
98. Financial Leverage is measured by : 98. Iy oavs &7 AUA 2T & ¢
EBIT godoamsodio
(A) Tar (A) 30T02T0
EBIT
® o fotosroto
EBT (B) godtodto
EAIT
O = Fouoamgodio
() o
o godtocio
D) g o
D) Fodoamsodio
99.  Share of goodwill bought by new partner  99. 73 WERER ERT &R 74T T BT W HEAT
called : g
(A) Premium (A) Hifty
(B) Capital <
(C) Revaluation (B) q\Uﬁ .
(D) Private capital ©) 9 Fﬂlﬂia
(D) afta ol
100. According to which concept, the owner to the 100. fog SRR Fadd &1 WMl S9P ERT
business is taken as creditor for the capital GRIFRIE] igﬁ ® foIT oFeR 99T AT 8 ?
invested by him ? (A) fg_ng STTIROT
(A) Dual aspect concept (B) e
(B) Money measurement concept o R
(C) Business entity concept (€) HITH AR
4 o o Besame (D‘) diresul MW 9352018749
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6. F9U = ¥ & aNowHoarRo TF ¥, ST WM R agHHis AR I JRa@ @89 A, B, C I D B &H A W
T 9 o TRy @ w9 1 goeg av A R et @t 2 Rl 6 woR @t 9o /feefy & Refy |
JOTHOIRO T3& Feed o faar s

Please note that it is the candidate’s responsibility to encode and fill in the roll number and question booklet series
A, B, C or D carefully and without any omission or discrepancy at the appropriate place in the OMR Sheet, any
omission/discrepancy will render the OMR Sheet liable for rejection.

7. TP W SR @ ford 1.0 3 faar A T SR o W 0.25 3F Fer ar AR o ue @ #iE s
Tl far & wue PIg 3F Tl fear W)
1.0 mark will be given for every correct answer. On giving wrong answer 0.25 mark will be deducted and if
question is not attempted by the candidate, no mark will be awarded.

8. AR Y vd el gulq # e vew @ Rl ot €, o sl a6 & st s § A= gy

If there is any mis-match in Hindi & English version, then english version will be finally acceptable.

9. @ ITHARO 1% W ff¥ad Iar W & foed a7 | SowidRo e auT Je-JRasT R BIE Jaiva fie
TR 3R T & T ® N v T o | 78 A wF @ o1 & e IR s b e @ e ) e
AT W W ¥ e a1 o AR ¥ gre o B & e wen i afia ) 36 TR @ el e

R FTs 3id R arit |

Make the mark only in the space provided on the OMR Sheet. Don’t make any stray mark or your name on any
part of the question booklet and OMR Sheet. It should also be kept in mind that trying to hide any circle by
using fluid, erase or scratch in any method is prohibited. Negative marks will be given for such acts.

10. e T (Rough work) W JRaaT # & famm o
Rough work is to be done in the Question booklet only.

11. % 09 @ SR 8 A0 TG AFed & SR U@ & g @ 1 1R | UF ¥ 9e R T gl 9 oo
T T B e Aft B T IR A AT |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

TEIERT ¢ A ohfory et fawa @7 we W 41 39 UeR ©

Example: Suppose Q.No. 41 of the subject is as below:

u SUCCESS PARTHNER

Q.No. 41: - What type of mixture is smoke ? it e uaR 37 fasor € 2
(A)  Solid mixed with a gas (A) 5 Al e
(B) Gas mixed with a gas (B) i fafdm
(C) Liquid mixed with a gas (©) % fafd 29
(D)  Gas mixed with a liquid and a solid (D) @@ 4 o faftm i

e IMUH FTER T w F AE I/ Rbew (D) &, sowHosRo wE H 56 S W Wl Rva-awg
Pier T &I 41 & WA @ I ] 59 FOR W
If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Sheet as follows:

Wé R (Correct Method)

(afe rera fafer & el =1 et § B fre o T & @ 9E IR @ WY R B R @ aer e
IR A B el S Bl A 0.25 3F HTET TR )

(Tf more than one circle is darken or any impression by the candidate either properly or improperly then 0.25 mark
will be deducted for every question.)

12, o0 A goiagife U4 Hjye dadeey auT 37 GG AE oF Aee B, Yo geae @ wanT gofa: affd 2

Use of electronic/manual calculator or any electronic equipment like mobile phone, pager etc. is not allowed.

Tera fafer (Wrong Method)

(i) F9 W& RIS IS $ WIEH § | TS Tod SR @ (7 0.25 3% $IeT TR |
There is a provision of NEGATIVE MARKING in this examination, For every wrong answer 0.25 mark
will be deducted.

(i) v W P A WA Y IRF T H R A HOTD 3@ BT WEE 2| g A T IR B A 0.25 3 Frer wRA |
On giving of two or more than two answer for every question, 0.25 mark will be deducted.
(iii) &9 FE-gRaP ¥ J0 FPHS IR T PR (Rough Work) @ fiRee g8 7 frd |
Do not inscribe anything except the Roll Number and rough work in this question booklet.
(iv) e i @ I SITHAR. UEE B S BEe @ WH A A% AR dR-49R o | aneft oy @ el oy W @
R T e wf 7 st w5 Flee @) s s
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate
° will carry candidate’s copy and handover the original and office copy of OMR Sheet to the invigilator.
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